
	
	
	

Sigorta	Matematiği	–	Hayat	Dışı		
Risk	Analizi	ve	Aktüeryal	Modelleme	

	
Çalışma	Soruları	

	
	
S1.	[Karma	Dağılımlar	(Mixed	Distributions)]	
Hasar	adedi	rassal	değişkeni	olan	𝑁 ∼ 𝐵𝑖𝑛 𝑛 = 2,𝑝 	ve	𝑃~𝑈𝑛𝑖 0.4, 0.7 	ile	verilirken	
𝑃 𝑁 = 1 	değerini	hesaplayınız.	
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S2.	[Karma	Dağılımlar	(Mixed	Distributions)]	
Hasar	adedi	rassal	değişkeni	olan	𝑁 ∼ 𝑃𝑜𝑖𝑠 𝜆 	ve	𝑁’in	parametresi	olan	
Λ~𝐺𝑎𝑚𝑚𝑎 𝛼 = 4,𝜃 = 100 	dağılım	ve	parametreleri	ile	verilirken	
	
i.	𝑉𝑎𝑟 𝑁 	
ii.	𝑃 𝑁 = 1 		
	
değerlerini	hesaplayınız.	
	
C2.		
	
	i.	𝑉𝑎𝑟 𝑁 = 𝐸 𝑉 𝑁|Λ + 𝑉 𝐸 𝑁|Λ = 𝐸 Λ + 𝑉 Λ = 𝛼𝜃 + 𝛼𝜃!.	
	

ii.	𝑃 𝑁 = 1 = 𝑒!!𝜆!
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veya	kısaca:	

		
𝑃𝑜𝑖𝑠 + 𝐺𝑎𝑚𝑚𝑎 𝛼,𝜃 = 𝑁𝐵 𝑟 = 𝛼 = 4,𝛽 = 𝜃 = 100 	eşitliğinden	
	

𝑃 𝑁 = 1 = 4
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